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GROUP A (Multiple-Choice Questions) [10x1=10] Time: 20 Minutes
1) The basic objective of traffic engineering is to 6) The interface treatment provided to plug in the
achieve............ ? voids of porous surface and to bond loose
a. Rapid Flow of Traffic particles in bituminous pavement is called
b. Efficient, free and rapid flow of traffic a. Tack coat
with least priority given to accident. b. Seal coat
c. Provide safe, convenient and economic c. Prime Coat.
movement of vehicles and pedestrian. d. Surface Dressing. _
d. All of the above 7) The maintenance works are not possible for
2) AADTSs are used in several traffic and g.aizr?qlgr?f r b.
transportation analysis for c. Subarade q
a. Measurement of current demand. ‘ g '
Embankment

b. Evaluation of the economic feasibility of
highway project.

c. Development of parking regulations.

d. None of the above

8) An existing flexible pavement that develops
extensive cracks is called........

a. Ravelling b. Alligator
. Cracks
I)
3) What are the special features of Roman Roads? c. Shear d. Pot holes

a. They were built straight without any
gradients.

b. The soft soil from the top was removed
till the hard stratum was reached.

c. The total thickness of road section was
around 750mm to 1200mm

d. None of the above.

9) The provision of traffic signals at intersection
a. reduces right angled and rear collisions
b. increases right angled and rear end collisions
c. reduces right angled collision but may increase
rear end collisions
d. reduces rear end collisions but may increase

4) Which of these factor does not affect pavement right angled collisions.

stability?
a. Vehicle and traffic factor

b. Temperature factor 10) The method of design of flexible pavement as

c. soil factor
d. Rainfall factor

5) The low volume road are designed as .....

a. All weather road
c. Flexible pavement

b. Fair weather road
d. Rigid Pavement.

recommended by IRC is

a. Group index method

b. b. CBR method

c. Westergaard method

d. Bankelman beam method
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What are the different types of traffic signs and explain any two.

What are the different methods of O-D Survey.

With neat sketch explain the structural components of pavement.
Explain in brief historical development of pavement structures.

What are the plants used in road construction?

What are advantages of stone block pavement? .

Describe slope protection methods.
Explain in brief about Highway maintenance.

Describe Mass haul diagram.
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[10x1=10]
[8x2=16]

[6x4=24]

10. Speed observation from a radar speed meter have been taken giving the speeds of the
subsidiary streams composing the flow along with the volume of traffic of each subsidiary
stream. The readings are as under.
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[4]

11. Design the traffic signal by webster method when traffic flow rate at phase 1 is 800veh/hr and
phase 2 is 600 veh/hr and saturation flow rate at Phase 1 and 2 are 1800 veh/hr for both.

12.

13.

14.

Assume 2 sec of lost time per phase change.

[4]

Explain briefly the various aspects investigated during parking studies. What is the use of

these studies?

[4]

Design the flexible pavement using CBR curves, given the following data:
i. Subgrade soil (Soaked) CBR

ii. Laterite Sub base (Soaked) CBR
iii. Water bond macadam base CBR
iv. Number of heavy vehicles per day in April 2025

v. Design life

vi. Annual rate of increase in the heavy vehicles

The road is proposed to be completed in April 2029

[4]

=5%
=15%
=95%
=150
=15 years
=5%

Determine the warping stress for a 25cm concrete pavement with 15m transverse joints; width
of lane is 3.6m. The modulus of subgrade reaction (k) is 2.8kg/cm2. Assume temperature



differential for day conditions to be 1°C per cm for computing warping stress at the corner.
Take the following values of various factors:

Thermal coefficient of concrete ‘a’ =8 x 10-6 per 0 C

Modulus of elasticity of concrete ‘E” =2.8 x 105 kg/cm2

Poissons’s ratio, p = 0.15

Radius of contact area = 16 cm [4]

15. What are the various Rigid pavement failure and methods to repair. [4]

16. One question can be added. [4]

THE END



